AMENDED BID TAB

PROJECT NAME:

Downtown Round Rock Streetscape Improvements

PROJECT LOCATION:

Round Rock, TX

OWNER:

City of Round Rock - Transportation

DATE:

September 2019





BASE BID G Hyatt Construction Patin Construction WLE Item Description and Approx Written Rid Iten Unit **Unit Price** Amount **Unit Price** Amount **Unit Price** Amount **Unit Price** 160,000,00 160 000 00 55,000,00 55.000.00 Mobilization/ General Conditions -30,517.28 30.517.28 1.01 1 LS complete in place per plan. 55,000,00 Traffic Control Plan Implementation -10,000.00 10,000.00 19,897.46 \$ 19,897.46 1.02 1 LS complete in place. Tree Protection Fencing -2.48 1,235,04 3.50 1,743.00 16.69 8,311.62 1.03 498 complete in place per plans 82.50 Inlet Protection -247.50 100.00 300.00 209.83 629.49 1.04 3 EΑ complete in place per plans. Unclassified Excavation/Site Grading/Embankment -150,000.00 \$ 150,000.00 195,000.00 22,349.45 22,349.45 195,000.00 including LOC prep, clearing, demo and haul off, removal 1.05 1 LS of P.C. concrete subgrade prep, grading, etc., complete in place per plans. Demolition and Haul Off -168,000.00 \$ 168,000.00 \$ 195,000.00 36,956.82 36,956.82 195,000,00 1.06 LS complete in place per plans Plane Asph Conc 1-1/2" (TxDOT 354) 28.25 306,625.50 11.00 119,394.00 11.26 122,216.04 1.07 10,854 SY complete in place per plans. D-GR HMA TY D PG 70-22 (1-1/2" Level Up) (TxDOT 341) 115.00 102,465.00 315.00 280,665.00 386.67 344,522.97 1.08 891 TON complete in place per plans. D-GR HMA (SQ) TY B PG 64-22 (TxDOT 340) 115.00 143,750,00 290.00 S 362,500.00 306.68 383,350.00 1.09 1.250 TON complete in place per plans. REFL PAV MRK TY 1 (4") (SLD) (W) (TxDOT 666) 3.63 12,113.31 2.00 6,674.00 1.20 4,004.40 3.337 1.1 LF complete in place per plans. 5,953.20 REFL PAV MRK TY 1 (4") (SLD) (Y) (TxDOT 666) 3.63 2.00 3,280.00 1.20 1,968.00 1.11 1,640 LF complete in place per plans. REFL PAV MRK TY I (8") (SLD) (W) (TxDOT 666) 7.26 1,742.40 1.20 288.00 4.00 960.00 1.12 240 LF complete in place per plans. REFL PAV MRK TY I (8") (SLD) (Y) (TxDOT 666) 7.26 2,439.36 4.00 1,344.00 403.20 1.20 1.13 336 LF complete in place per plans. REFL PAV MRK TY I (12") (SLD) (W) (TxDOT 666) 12.10 5.25 3,123.75 1.47 874.65 1.14 595 LF complete in place per plans. REFL PAV MRK TY I (24") (SLD) (W) (TxDOT 666) 12.10 2,238.50 12.00 2,220.00 2.20 407.00 1.15 185 1E complete in place per plans. REFL PAV MRK TY I (ARROW) (W) (TxDOT 666) 242.00 726.00 250.00 750.00 91.47 274.41 1.16 3 FΑ complete in place per plans. REFL PAV MRK TY I (WORD) (W) (TxDOT 666) 423 50 3.388.00 340.00 2,720.00 114.00 912.00 EΑ 1.17 8 complete in place per plans. REFL PAV MRK TY I-C (TxDOT 672) 18.15 181.50 5.34 12.00 120.00 53 40 1.18 10 EΑ complete in place per plans. REFL PAV MRK TY II-A-A (TxDOT 672) 18.15 980.10 12.00 648.00 3.80 1.19 54 EΑ complete in place per plans. 44.22 77,650.32 65.00 114,140.00 64.15 112,647.40 Green Blue Urban Root Space System including coordination, materials and aggregates, 1.2 1.756 SF complete in place per plans and specifications. 10.00 3,780.00 \$ 45.00 17,010.00 12.39 \$ 4,683.42 4" Perforated Pipe and Storm Drain Tie-In -1.21 378 LF complete in place per plans.

BASE BID

G Hyatt Construction

Patin Construction

WLE

MANUFACTURE CONTRACTOR		-													
Bid Item	Approx Quantity	Unit	Item Description and Written Unit Price	Unit Price		Amount		nit Price		Amount	Unit Price			Amount	
1.22	121	LF	QCP 6" Cheek Wall, including coordination complete in place per plans.	\$	30.00	\$	3,630.00	\$	1,500.00	\$	181,500.00	\$	78.84	\$	9,539.64
1.23	66	LF	QCP 12" Seat Wall, including coordination complete in place per plans.	\$	48.00	\$	3,168.00	\$	1,500.00	\$	99,000.00	\$	107.50	\$	7,095.00
1.24	176	LF	QCP 12" Wood Topped Seat Wall, including coordination, wood, complete in place per plans.	\$	58.00	\$	10,208.00	\$	1,500.00	\$	264,000.00	\$	164.84	\$	29,011.84
1.25	6,237	SF	Bison IP Pedestal and Wood Tile System, including coordination, materials, and ramps, complete in place per plans.	\$	52.00	\$	324,324.00	\$	57.00	\$	355,509.00	\$	43.63	\$	272,120.31
1.26	1	LS	Concrete Steps complete in place per plans and detail.	\$	2,500.00	\$	2,500.00	\$	3,500.00	\$	3,500.00	\$	2,256.81	\$	2,256.81
1.27	193	LF	Handrail complete in place per plans and detail.	\$	40.00	\$	7,720.00	\$	125.00	\$	24,125.00	\$	89.52	\$	17,277.36
1.28	394	LF	NDS Trench Drain Channel and Decorative Grate - complete in place per plans.	\$	25.00	\$	9,850.00	\$	100.00	\$	39,400.00	\$	59.87	\$	23,588.78
1.29	394	LF	<u>Trench Safety -</u> complete in place per plans.	\$	2.00	\$	788.00	\$	5.00	\$	1,970.00	\$	10.77	\$	4,243.38
1.30	4,036	SF	P.C. Concrete Sidewalk (4" Thick) - complete in place per plans.	\$	5.00	\$	20,180.00	\$	7.00	\$	28,252.00	\$	6.04	\$	24,377.44
1.31	120	LF	P.C. Concrete Turndown Curb at Sidewalk - complete in place per plans.	\$	23.00	\$	2,760.00	\$	15.00	\$	1,800.00	\$	7.20	\$	864.00
1.32	963	LF	P.C. Concrete Curb and Gutter - complete in place per plans.	\$	20.00	\$	19,260.00	\$	15.00	\$	14,445.00	\$	11.83	\$	11,392.29
1.33	660	LF	Standard Square Turndown Curb - complete in place per plans.	\$	20.00	\$	13,200.00	\$	15.00	\$	9,900.00	\$	10.53	\$	6,949.80
1.34	6	EA	P.C. Concrete Curb Ramp (All Types) - complete in place per plans.	\$	2,000.00	\$	12,000.00	\$	2,000.00	\$	12,000.00	\$	1,295.73	\$	7,774.38
1.35	363	LF	Concrete Wall Footing - complete in place per plans.	\$	20.00	\$	7,260.00	\$	100.00	\$	36,300.00	\$	21.37	\$	7,757.31
1.36	4	EA	Corten Plate Bridge - complete in place per plans.	\$	1,500.00	\$	6,000.00	\$	2,500.00	\$	10,000.00	\$	1,023.88	\$	4,095.52
1.37	20	EA	<u>Dumor Bench</u> - including sonotube concrete pads, installation, complete in place per plans.	\$	1,500.00	\$	30,000.00	\$	1,300.00	\$	26,000.00	\$	2,871.81	\$	57,436.20
1.38	2	EA	Dumor Trash Receptacle, including installation, complete in place per plans.	\$	1,000.00	\$	2,000.00	\$	1,300.00	\$	2,600.00	\$	2,437.41	\$	4,874.82
1.39	579	LF	Tegan Lighting Exton Powerspan Cable System, complete in place per plans and specifications.	\$	133.10	\$	77,064.90	\$	198.00	\$	114,642.00	\$	19.68	\$	11,394.72
1.40	35	EA	Engineered Steel String Light Poles, including concrete footing, complete in place per plans, and details.	\$	2,513.50	\$	87,972.50	\$	2,950.00	\$	103,250.00	\$	6,754.54	\$	236,408.90
1.41	11	EA	Antique Street Lamps Custom Catenary Fixture, complete in place per plans & specifications.	\$	6,500.00	\$	71,500.00	\$	6,340.00	\$	69,740.00	\$	5,506.35	\$	60,569.85
1.42	22	EA	Antique Street Lamps Custom Aluminum Post, including concrete footing, complete in place per plans and specs.	\$	2,500.00	\$	55,000.00	\$	818.00	\$	17,996.00	\$	7,726.61	\$	169,985.42
1.43	703	SF	<u>Decorative Concrete Pavers -</u> complete in place per plans.	\$	15.00	\$	10,545.00	\$	10.00	\$	7,030.00	\$	11.37	\$	7,993.11
1.44	38	EA	<u>Limestone Boulders</u> , per detail, complete in place per plans.	\$	391.19	\$	14,865.22	\$	230.00	\$	8,740.00	\$	189.17	\$	7,188.46
1.45	15	EA	6" Cal. Shade Tree - B&B, including planting and staking, complete in place per plans.	\$	2,488.55		\$37,328.25	\$	8,690.00	\$	130,350.00	\$	1,523.36	\$	22,850.40

BASE BID

G Hyatt Construction

Patin Construction

WLE

Bid Item	Approx Quantity	Unit	Item Description and Written Unit Price		Unit Price	Amount	U	nit Price		Amount		Unit Price		Amount
1.46	12	EA	2" Cal. Ornamental Tree - container grown, including planting and staking, complete in place per plans.	\$	654.50	\$ 7,854.00	\$	5,720.00	\$	63,240.00 \$68,640.00	\$	620.31	\$	7,443.72
1.47	343	EA	<u>5 Gal. Landscape Shrub -</u> including planting, complete in place per plans.	\$	22.32	\$7,655.76	\$	40.00	\$	13,720.00	\$	31.87	\$	10,931.41
1.48	411	EA	3 Gal. Landscape Shrub - including planting, complete in place per plans.	\$	20.35	\$ 8,363.85	\$	36.00	\$	14,796.00	\$	25.71	\$	10,566.81
1.49	1,305	EA	1 Gal. Landscape Shrub - including planting, complete in place per plans.	\$	11.55	\$ 15,072.75	\$	11.00	\$	14,355.00	\$	10.93	\$	14,263.65
1.50	11,590	SF	9" Bed Prep, including 6" Depth Prepared soil and 3" depth gravel mulch, per #13/LA5.01, complete in place per plans.	\$	3.33	\$38,594.70	\$	14.00	\$	162,260.00	\$	2.05	\$	23,759.50
1.51	1,674	SF	Bermuda Sod, complete in place per plans & specs.	\$	1.88	\$3,147.12	\$	1.00	\$	1,674.00	\$	0.49	\$	820.26
1.52	1	LS	Re-Vegetation, as needed, Including Fine Grading as Necessary, Soil Prep, Establishment, Complete in place per plan & specs.	\$	12,500.00	\$ 12,500.00	\$	750.00	\$	750.00	\$	3,729.97	\$	3,729.97
1.53	1	LS	Complete Irrigation System - including all trenching, conduit, backfill, wiring, fittings, boxes, fixtures, controller, and appurtenances, complete, as well as temporary irrigation as needed, operational and in place per plan & sepcifications	\$	34,554.30	\$ 34,554.30	\$	42,000.00	\$	42,000.00	\$	28,928.00	\$	28,928.00
1.54	1	LS	Complete Lighting System - including all connections, trenching, conduit, backfill, wiring, etc.	\$	71,935.00	\$ 71,935.00	\$ 1	138,704.00	\$	138,704.00	\$	67,177.42	\$	67,177.42
1.55	1	LS	Electronic Message Center - including all connections, trenching, conduit, backfill, wiring, fabrication, etc.	\$	9,460.00	\$ 9,460.00	\$	15,000.00	\$	15,000.00	\$	11,065.50	\$	11,065.50
1.56	12	мо	1-Year Maintenance Package to ensure project warranty coverage.	\$	10,000.00	\$ 120,000.00	\$	3,750.00	\$	45,000.00	\$	1,952.50	\$	23,430.00
1.57	91	EA	Premium Rubber Wheel Stops, complete in place per plans & specs.	\$	125.00	\$ 11,375.00	\$	165.00	\$	15,015.00	\$	93.91	\$	8,545.81
1.58	420	LF	2' Concrete Valley Gutter, complete in place per plans.	\$	12.00	\$ 5,040.00	\$	25.00	\$	10,500.00	\$	13.62	\$	5,720.40
		I	Materials All Other Charges <u>Total Base Bid</u>			\$ 2,380,391.58			\$ \$	1,880,989.24 1,590,665.21 3,477,054.75			\$ \$	641,003.93 1,648,049.32 2,318,900.40
	Low Bid Item		Note:	5			\$3,4	71,654.75 o	n bic	i form	add	al for Materials a up to \$2,289.05. 847.15 from Tot	3.25;	difference of

High Bid Item

ALTERNATE BID					G Hyatt Construction				uction	WLE			
Bid Item	Approx Quantity	Unit	it Item Description and Writte Unit Price	Unit Price	Amount		Unit Price		Amount	Unit Price		Amount	
AA.1	1	LS	Add Alternative Option 1: Curb and Paver Grate complete in place per plans and detail 1/HSS.06.	No Bid	No Bid	\$	125,000.00	\$	125,000.00	\$ 53,211.15	\$	53,211.15	
AA.2	1	LS	Add Alternative Option 2: Trench Across Main St. complete in place per plans and detail 3/HSS.06.	\$ 10,000.00	\$ 10,000.00	\$	6,300.00	\$	6,300.00	\$ 3,436.00	\$	3,436.00	
			Materials All Other Charges <u>Total Alternate Bid</u>		\$ 10,000.00			\$ \$ \$	68,946.00 62,354.00 131,300.00		\$ \$ \$	26,800.00 29,847.15 56,647.15	
	Low Bid Item High Bid Item		Notes:										
			<u>Total Base Bid</u> <u>Total Alternate Bid</u>		\$ 2,380,391.58 \$ 10,000.00			\$ \$	3,477,054.75 131,300.00		\$	2,318,900.40 56,647.15	
			TOTAL PROJECT BID		\$ 2,390,391.58			\$	3,608,354.75		\$	2,375,547.55	